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Whenever yvou see the
words Parallel &
Perpendicular think

slong
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Find the x and y-intercepts.

dx+7y—3=2353
X-int (4=9) ik (x=0)
X+TF(0) -3 =53 ) 1O+ ~3=53
WX €3 5343 7?@:23;,3

B=5 -5
th jrf 46
(H’\Q (0\8)
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Graph the following
equation using the
.. and  intercepts.

4x+3y=24
X Xeint( =07
X+
e
M(X%D
"33 (09
T

=0



Find the x and y-intercepts.
dy—T—-4dx=Ty+x+3

x-int ( %-’—OD y-int (x=0
40) =7 —4x =T(O0)+x+3 | 41=T=4(0) =7y +(0)+3
—7—4x=4x+3 4y—T7=7y+3
—dx—x=3+7 4y—-Ty=3+7
—3x =10 |
y=_2 -3y =10
—10
V=
" 3
2,0) (0,-10/3)
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Graph the following equation
with the same x-intercept as
Ty - 8x -3 =21 and parallel

to the equation y -4
+b.

1(0) —8x-3=2)
=a|+3



Determine the equation of a line with an

x-intercept of 4 and perpendicular to the
slope of -3

2 =g
Slope: +2" Eyﬁ )
Point: ( 4, o9 = 23Y-o
xy) (f ax—gi‘g@}
M -34-8=0



Determine the equation of a line that has the
same x-intercept as 3x - 3y + 2 =8 and

perpendicular to 4, X-inH y=>)
3X-3g,+9 8

Slope: =
Point: ﬂ—b =X 3?3.—%3_38
(X,Y) Gé( gj éxg-g
"= X=2
=L
\::’-ab > o)
_a =
..48.: =0



Determine the equation of a line with the
same x-intercept as 3y - 14 = 2x and
parallel to2y=4x -6

Slope: %:_’IZ: 4 ;é_fxg
Point: ( é 2) o ‘%x 3}:— 2X—3
Xy (Y gs X=-7

g

% i E'zy-o)

RHY-=
e,

10
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